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Sčítání a odčítání přirozených čísel – bez 

závorek – řešení 

Úkol: Doplň tabulku.  

Varianta 1    Varianta 2 

PŘÍKLAD VÝSLEDEK PŘÍKLAD VÝSLEDEK 

86 – 41 + 36 = 81 4696 – 4147 + 3669 = 4218 

7863 + 1647 – 5874 =  3636 8543 + 486 – 4236 =  4793 

83412 – 63741 =  19671 43216 – 31542 =  11674 

153247 – 69854 =  83393 968543 – 42586 =  925957 

569831 + 135741 = 705572 456321 + 798653 = 1254974 

352 – 26 + 98 = 424 422 – 36 + 107 = 493 

15986 - 4589 = 11397 17896 – 4863 = 13033 

4568793 + 5749872 = 10318665 1879319 + 4973219 = 6852538 

458935 – 589 + 487 = 458833 875963 – 489 + 361 = 875835 

78 - 52 + 466 = 492 49 - 32 + 856 = 873 
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